MACRO ECONOMICS
B.A. PART-1 PAPER-I1I

UNIT-I

(01). What are the necessary conditions of Barter System?

(a) Limited Needs (b) Limited Exchange Area
(c) Economically Backward Society (d) All the above
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(02). What are the advantages of Barter System?
(a) Simple System (b) More Mutual Co-operation
(c) No Economic Disparities (d) All the above
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(03). Which is the correct order of money evolution?
(a) Commodity Money, Paper Money, Metal Money
(b) Commodity Money, Metal Money, Paper Money, Credit Money

(c) Credit Money, Metal Money, Paper Money
(d) None of the above
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(04). Which one is included in the primary function of money?

(a) Medium of Exchange (b) Measure of Value
(c) Both (a) and (b) (d) Store of Value
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(05). Which one is included in the secondary function of money?

(a) To make Deferred Payments (b) Store of Value

(c) Transfer of Value (d) All of these
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(06). “Money is what money does”. Who said this: -

(a) Hartley Withers (b) Harte

(c) Prof. Thomas (d) Keynes.

“FET 9% ¢ A FT Y FIAT §” I8 fhast Fen-

() grear faex (@) &1c
(3M) Y. grE (T) H=a
(07). The function of money is: -
(a) Medium of Exchange (b) Measure of Value
(c) Store of Value (d) All the above
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(08). In the equation Vm=I1/P, Vm represents-
(a) Quantity of Money (b) Value of money

(c) Value of good (d) None of these
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(09). Whose statement is “Anything’s that possesses general acceptability is called

money”?

(a) Seligman (b) Pigou (c) Kent (d) Ely
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(10). Who propounded the statement "Bad money drives good money out of
circulation™?

(a) Crowder (b) Keynes
(c) Robertson (d) Gresham
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(11). When money supply increases then price level rises proportionately according to: -
(a) Marshall (b) Fisher (c) Keynes (d) Cantillon
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(12). In the classical theory, an increase in money supply lead to-
(a) Decrease in price level (b) Increase in savings

(c) Decrease in investment (d) Increase in price level
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(13). Who is the author of the book **Principles of Economics™?

(a) Marshall (b) Robertson (c) Keynes (d) Pigou
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(14). Who wrote “The Purchasing Power of Money”?

(a) Keynes (b) Robertson (c) Marshall (d) Hawtrey
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(15). In Marshall's equation M=KY, Y represents
(@) Income (c) Annual income

(c) Real annual income (d) None of these

AT F FHHIOT M=KY & Y veRia &3ar &-

() I (@) a1 3

(31) arEdfas a1 31T (9) SAH & FIg =Igi
(16). According to Milton Friedman, quantity theory of money deals with-

(@) Price (b) Income

(c) Supply for money (d) Demand for money
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(17). The classical economists focussed on the role of money as —
(&) Medium of exchange (b) Medium of distribution

(c) Wealth (d) Link between present and future
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(18). Arrange the following theories in the chronological order-

(@) Cheque (b) Metal Money (c) Goods Money  (d) Paper Money
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(19). If the values of all variable in Fisher’s quantity theory of money are doubled, the
price level become-

(a) Half (b) Double (c) Constant (d) None of these
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(20). According to Fisher’s quantity theory of money: -
(a) MV=PT (b) MU=TP (c) MV=MP (d) MV=RT
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(21). According to Fisher’s, if the quantity of money is doubled, then the value of money

will be: -

(a) Half (b) Double (c) Constant (d) None of these
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(22). Who is the author of the book “An Out line of Money”?

(a) Marshal (b) Crouther (c) Keynes (d) Fisher
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(23). The exponent of the following equation was p=kR/M

(a) Keynes (b) Robertson (c) Marshall (d) Hawtrey
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(24). In Fisher's equation —

(a) M is constant (b) P is constant

(c) P and M is constant (d) Vand T constant
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(25). Who formulated the n=pk equation?
(a) Keynes (b) Robertson (c) Marshall (d) Pigou
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(26). Who formulated the equation M=KPT?

(a) Keynes (b) Robertson (c) Marshall
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(27). Who formulated the M=KY equation?

(a) Keynes (b) Robertson (c) Marshall
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(28). Who is the author of the book A Treatise on Money"'?
(a) Crowder (b) Keynes
(c) Robertson (d) Pigou
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(29). According to Keynes’ income theory-
(a) Y=C-I (b) Y=C+I (c) Y=C+R
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30). According to Keynes’ income theory-
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(31). Who is the author of the book ""The General Theory of Employment Interest and
Money''?

(a) Crowder (b) Keynes

(c) Robertson (d) Pigou
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(32). Which of the following is known as the "Real Balance equation'?
(@) Crowder (b) Keynes
(c) Robertson (d) Gresham
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(33). In Keynes' equation n=pk, n-represent?
(a) Total quantity of money in circulation (b) Total quantity of good
(c) unusable money (d) none of these
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(34) Who propounded the 'Real Balance Equation’?

(@) Crowder (b) Keynes

(c) Robertson (d) Samuelson
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(35). Arrange the following theory in chronological order: -

(a) Restatement of quantity theory (b) Income theory

(c) Quantity theory (d) Cash balance approach
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(36). Monetary policy is related with: -

(a) Public Expenditure (b) Taxes

(c) Public Debt (d) Open market operations
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(37). The major objectives of monetary policy is/are: -

(a) Increase in output and employment (b) Stability in foreign exchange rate
(c) Price stability (d) All of these
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(38). Near-Money-
(@) is as liquid as currency.
(b) can be used as a medium of exchange.
(c) serves only store of value.

(d) none of these.
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(39). Money contains: -

(a) Coins (b) Currency notes
(c) Cheques (d) All of the above
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(40). The money that is legally accepted by everyone in the economy is called

(@) Legal tender money (b) Plastic money

(c) Commodity money (d) Credit money
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(42). Inflation:

(a) Always reduces the cost of living
(b) Always reduces the standard of living
(c) Reduces the price of products

(d) Reduces the purchasing power of a Rupee
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(42). Inflation is the state in which ............c.ccoceinis

() The value of money decreases
(b) The value of money increases
(c) The value of the money increases first and then decreases

(d) The value of money decreases first and increases later

Harehifa a8 aear § o
(&) U9 &1 HeT Tedr g
(@) 9 T Hed Fedr ¢

(@M F FT AT dga Fear § IR AR gear §

(&) U8 & Ao Ugel Hedl § 3N oG 7 dearn &



(43). Correct match list — I with list-11

List-1 List-11
(a) Stability of demand function of money () Bent Hansen
(b) Demand inflation theory (11) Milton Friedman
(c) Interest elasticity of transections demand for cash (111) Don Patinkan
(d) Real balanced effect (1V) James Tobin
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(44). The premise that these exists inverse relationship between money wage inflation
and unemployment was originally given by —

(@ A.W. Philips (b) Milton Friedman
(c) Philip Cagan (d) Robert Lucas
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(45). Inventory theoretic approach to transection demand for money has given by —
(@) J. M. Keyns (b) Milton Friedman
(c) Don Patinkon (d) W. J. Boumal
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(46). Correct match list — I with list-11

List-1 List-11
(a) Equation of exchange () Bent Hansen
(b) Cash balance approach (11) Milton Friedman

(c) Regressive expectation model of
demand for money (111) Don Patinkan

(d) Square root formula of

demand for money (IV) James Tobin
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(47). Who amongst the following economist imparted money demand of portfolio theory
approach?

(@) J.M. Keynes (b) Milton Friedman (c) James Tobin (d) W. J. Boumal
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(48). Which OF the following characteristics are observed in the condition of
Stagflation?

(a) Deflation and Increase unemployment
(b) Inflation and increase employment
(c) Continuously price increase and increase unemployment

(d) Constant employment and deflation
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(49) In inflation market goods-

(a) Gets Cheaper (b) Get expansive
(c) Decreasing in sufficiency (d) Do not get
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(50). At the time of inflation, public expenditure should-
(a) Decrease (b) Increase
(c) Balanced (d) None of these
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(51). Benefits of increasing inflation-
(a) Corporations (b) Government (c) Creditor (d) Borrower
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(52). Which of the following is the cause of cost-push inflation?
(@) Increase in consumption (b) decrease in taxation

(c) Increase in demand (d) Increase in salary and wage
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(53). How can temporarily controlled of inflation?

(@) Increase the price (b) Increase the amount tax

(c) To stope increase the money supply (d) Falling the price
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(54). Best way to control inflation-
(@) Punish the guilty (b) Increase production at on all level
(c) fixed the price (d)Creating an atmosphere of fear and terror
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(55). The following steps should be taken by the central bank to control inflation-
(a) Sale of government securities in the open market
(b) Decrease bank rate
(c) Purchase of securities

(d)Shortfall in reserve
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(56). It is used to measure of inflation-

(a) Consumption price index (b) International trade index
(c) Whole sale price index (d) None of these
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(57). “Inflation should be compared to robbery” is the statement of which economist?

(a) Crowder (b) Keynes (c) Robertson (d) All of the above
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(58). “Money is a pivot around which the whole economy clusters.” Who said
it?

(a) Keynes (b) Robertson (c) Marshall (d) Hawtrey
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(59). ""Currency expansion is unjust and currency contraction unjustified™ is the
statement.

(@) Crowder (b) Keynes

(c) Robertson (d) Samuelson
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(60). When inflation is between 10-20%, it is-
(@) Creping Inflation (b) Running Inflation
(c) Walking Inflation (d) Hyper Inflation
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